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1. Introduction

The purpose of this document is to list the open issues with physical resource allocation each of these issues are open because firm decision has not been made in WG1 and/or WG2. Each decision has minor effects on the on the IE’s passed back and forth over NBAP/RNSAP. Each open issue and the possible solutions are listed.

Basic resource allocation assumptions based on [1]:

· The HI is sent on the associated dedicated channel

· The UE looks after a fixed time (defined in WG1) looks on its assigned common control channel (HS-SCCH) for the HS-DSCH allocation.

· After a fixed time after the HS-DSCH allocation (defined in WG1) the UE receives the HS-DSCH transmission on the assigned HS-PDSCHs. 

· After a fixed time (defined in WG1) the UE sends an ACK/NAK and channel quality measurement back to the Node B on the HS-SICH.

2. Discussion

The following are WG1/WG2 issues with TDD resource allocation that WG3 is awaiting answers

1. How does the UE find out about the physical resources assigned to an HS-PDSCH for a particular allocation?

· Explicit code allocations are sent on the HS-SCCH as part of the HS-DSCH allocation

· There are configured HS-PDSCH sets that are broadcasted and read by the UE on the BCH and the HS-SCCH channel HS-DSCH allocation includes only the set id.

· HS-PDSCH sets are created but are signaled to the UE through Dedicated RRC signaling from the SRNC.

2. How does the UE find out about the HS-SCCHs/HS-SICHs allocated to it? 

· Dedicated RRC signaling from the SRNC

· Broadcasted from the either the C-RNC or the Node B on the BCH (only works if there cannot be more HS-SCCHs/HS-SICH in a cell than a UE can receive)

3. Does the Node B need channel quality measurements? Is so how does it get measurements at the beginning of a transmission? The main point here for WG3 is whether the HS-SCCH and HS-SICH can be paired one-to-one. 

· The Node B can dynamically request a measurement by sending an HS-SCCH message and receiving the result in the HS-SICH – Therefore the one to one pairing of an HS-SCCH and the HS-SICH can be done.

· The UE sends back periodic measurements on an HS-SICH that is allocated at channel setup – Therefore the one-to one-pairing of the HS-SCCH and HS-SICH cannot be completely done.

· The measurement is sent on the DCCH to the SRNC and forwarded back to the Node B – Therefore the one to one pairing of an HS-SCCH and the HS-SICH can be done.

3. Proposal

Hopefully each of the above issues have been decided by WG1/WG2 in their January Meetings however to allow WG3 to complete its work on time we have to make working assumptions on each issued not solved. 

The proposal is for all still open issues:

· To include unsolved issues from section 2 of this paper in the report in an appropriate section.

· To agree on the working assumptions for the solution for each issue and include the consequences (IEs inclusion/exclusion) of that decision in the report and the March CR’s

As a first pass, we propose that the first bullet in each section be considered the WG3 working assumption.

4. References

[1] 3GPP TR 25.308 v5.0.0 UTRA High Speed Downlink Packet Access: Overall Description

